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PHILOSOPHY
PAPER - II

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

1. Vrtti according to Nyaya is a relation between :
(1) Two Padas (2) Two Padarthas
(3) Pada and Padartha (4) Padaand Vakya

2.  According to Nyaya the objects of visual sense-organ are also the objects of tactual sense - organ

except :
(1)  Rapa only (2)  Rapatva only
(3) Both ripa and ripatva (4) Both Rapa and sparsa

3.  Which type of hetvabhasa is committed by the following anumana ? Select the correct code
given below :

marinmayah parvatah vahniman
(1)  Asadharana savyabhicara (2)  Svarapasiddha hetvabhasa
(3) Asryasiddha hetvabhasa (4)  Viruddha

4. By what type of sannikarsa do we perceive patabhavain ghata according to the Nyaya ?
(1) Samyoga (2) Samyukta Samavaya

(3) Samavaya 4) ViSesanata
5. Which type of karana of the world Godis in VaiSesika philosophy ?
(1)  Samavayikarana (2)  Asamavayikarana

(3) Upadanakarana 4) Nimittakarana

6.  Which among the following is not compatible to the vaiSesikas ?

(1)  Pratyaksais pramana (2) Anumanais pramana
(3) Sabdais pramana (4)  Sabdais svatantra (independent) pramana
poosss || 2
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Given below are one Assertion (A) and a Reason (R). Consider them and select the correct
code in the context of Carvaka philosophy.

(A) Pratyaksais the only pramana

(R) Anumanais not a pramana

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true and (R) is false.

(4) (A) is false and (R) is true.

8.  The view that IsSvarais a kind of armais upheld by :
(1) Carvaka only (2) VaiSesika only
(3) Nyaya only (4) Nyaya and VaiSesika
9.  When the /aksana of a word excludes Sakyartha completely then that /aksapa is called in Nyaya-
epistemology :
(1) Jahat laksana (2)  Vyanjana
(3) Ajahadlaksana (4)  Jahadajahadlaksana
10. Given below an Assertion (A) and one Reason (R). Consider them and select the correct code
given below :
(A) The existence of paramanu must be admitted.
(R) Dvyanukais savayava.
Code :
(1)  (A) and (R) both are true and (R) is the correct ground for (A).
(2)  (A) and (R) both are true and (R) is not the correct ground for (A).
(3) (A)is true and (R) is false.
4) (A) is false and (R) is true.
rooss [NV ;
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11. Match Set - I and Set - II and select the correct code given below :

Set - I Set - 1I
(@)  Pratyaksam kalpanapodam namajatyadyasamyutam (1)  Dharmakirti
(b) Jianakaranakamn jiianarh pratyaksam (i) Dinnaga
(¢)  Indriyarthasannikarsotpannam jAanam avyapadesyam (i) Gangesa

avyabhicari vyavasayatmikam pratyaksam
(d)  Pratyaksam kalpanapodam abhrantam (iv) Gautama
Code :
(a) (b) (¢) (d)
H O @ @ @)
2 @@ av) @) @
) @@ @) @) @
@ @) @@ @) @

12. Akasaaccording to the vaiSesikas is :
(1)  One only (2)  Bibhu only
(3) Nityaonly (4)  One, bibhu and nitya

13. At liberated state azma according to the Nyaya school is devoid of :
(1)  Duhkha only (2)  Sukha only
(3) Caitanyaonly (4)  Duhkha, Sukha and Caitanya

14. Atma, according to the Naiyayikas can be :
(1)  knower only (2)  known only
(3) knowledge only 4) knower and known

15. What type of karana the colour of the threads is in respect of the colour of the cloth according to
the vaiSesikas ?

(1)  Samavayi (2) Asamavayr (3) Nimitta 4) Upadana

16. Which type of hetvabhasa is committed by the following anumana ? Select the correct code :

vahni, anusnpa, dravyatvat

Asra yaSJdd]Ja Badhita (3) Viruddha (4)  Satpratipaksa

poos H|H|H||||\ 0l \H|||\|\|\|H|\ :
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17. Match List - I and List - IT and choose the correct code :

List - I List - 11
(@) Pirva - mimamsa (1)  Sadasadvilaksana
(b)  Advaita Vedanta (i)  Aprthak siddhi
(¢)  Dvaita Vedanta (iti)) Paradhina visesapti
(d)  Visistadvaita Vedanta (iv) Jatisaktivada

Code :

(a) (b) (¢) (d)
H @ @ @ @)
@ v @O (@) @)
@) @) @@ @O @)
@ @) av) @@ @

18. Which one of the following propositions is not compatible with Kumarila School of
Purva-mimarnsa ?
(1) Advocacy of abhihitanvayavada
(2)  Perceptual error consists in mutual superimposition of shell and silver
(3) Knowledge is constituted of triputi

(4)  Perceptual error is an act of commission

19. Which one of the following is incompatible to Dvaita Vedanta ?

(1)  The concepts of bheda and Visesa are basic and central to Dvaita Vedanta
(2) Jagatis an appearance

(3) Brahmanis ananthakalyana-guna paripirna

(4)  Jivaisontologically different from Brahman
20. Write the correct sequence according to the Upanisads :
(1)  nididhyasana, manana, Sravana (2) manana, Sravana, nididhyasana

(3) Sravapa, manana, nididhyasana (4)  Sravana, nididhyasana, manana

21. Mark the incompatible of the following with reference to Kumarila’s epistemology :

(1) Svatah pramanya vada (2)  Viparitakhyati vada
Paratah pramanya vada (4) Abhihitanvaya vada
o8 HIHIHII IHA0A ;
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22.

23.

24.

25.

26.

27.

Anvitabhidhanavada is supported by the following pair of philosophers :
(1) Prabhakara and Mandana (2) Kumarila and Vacaspati

(3) Gotama and PraSastapada (4) Nagarjuna and Dinnaga

Among the following, what is acceptable to Samkara ?
(1)  Brahman and Jiva are different from and identical with each other
(2)  Brahmanis nirguna

(3) Proponent of Sanaka Samipradaya of Vaisnavism

(4)  Moksa is obtainable by jiana through ISwara prasada (God’s grace) generated by Bhakti

The Direct knowledge of the thoughts of other, according to Jain Philosophy is :
(1) Avadhi (2) Manahparyaya (3) Mati 4) Kevala

What are the trinity principles espoused by Dr. Ambedkar ?

(1) Non-violence, Truth and Peace

(2) Non-Cooperation, Non-stealing and Non-equalization

(3) Revolution, Historical Materialism and Dialectical materialism

(4) Liberty, Equality and Fraternity

Which hetvabhasa is committed by the following anumana ? Select the correct code :
Sabda anitya caksusatvat

(1)  Svarapasiddha hetvabhasa (2) Badhita hetvabhasa

(3) Viruddha hetvabhasa (4)  Savyabhicara hetvabhasa

Given below are the statements about a Karmayogin. Select the correct code given below :
(@) A Karmayogi works for attaining liberation

(b) A Karmayogi works for heaven

(¢) A Karmayogi works for the renunciation of all the karma

(d) A Karmayogi works for lokasamgrah

Code :

(1) (a)and (b) (2) (b)and (¢) (3) () and(d) (4 (b)and (d)

vooss | IR 1
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28. The basis of division of four types of varna according to the Gita is :
(1)  Gunpa only (2) Karma only
(3) Both guna and karma (4)  Lokaprasiddhi only

29. Match List - I with List - IT and choose the correct answer regarding Khyativada by using the
code given below :

List - I List -II
(a) Akhyat @) Vijianavada
(b)  Atmakhyati (i) Prabhakara Mimamsa
(¢c) Anyathakhyati (i) Nyaya
(d)  Amirvacaniyakhyati (iv) Advaita vedanta

Code :

(a) (b) (¢) (d)
(H G @ @) 3Gv)
2 @O @ @ @)
3 @O @ @) @v)
@ G @@ @ 3Gv)

30. Match List - I with List - IT and choose the correct answer regarding Pramanya by using code

below :

List - I List - II
(a) Buddhism (1)  Paratah Pramanya, apramanya
(b) Sankhya (i)  Svatah Pramanya, Paratah apramanya
(¢c) Mimarsa (iti) Svatah Pramanya, Paratah apramanya
(d) Nyaya-VaiSesika (iv) Svatah Pramanya, apramanya
Code :

() (b) (¢) (d)
H @ G @O Gv)
2 @ @Gv) > @
@ @) G Gv) @
@G @O > Gv) ()

31. ‘Treating equals equally and unequals unequally’ is the view of :
Socrates (2) Bentham (3) Aristotle 4 Mil

D
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32.

33.

34.

35.

36.

37.

38.

Who among the following has said that ‘ ‘Personality and property go together’” ?
(1) Kant (2) Hegel (3) Ross (4) Rawls

Who among the following has identified three types of Justice - Distributive, Retributive, Commutative ?
(1) Plato (2) Aristotle (3) Hobbes (4) Locke

‘Men are not hanged for stealing horse so that horse may not be stolen by others’ can be
attributed to :

(1) Retributive theory of punishment (2) Reformative theory of punishment
(3) Theory of capital punishment (4) Deterrent theory of punishment

‘Either freedom of will is a fact or moral judgement a delusion’ is a statement of :
(1) Hobbes (2) Martinue (3) Kant (4) Hegel

Match List - I with List - II and choose the correct answer with the help of the code given

below :
List - I List - II
(Thinking) (Statement)
(@)  Radical Feminism (i)  The struggle for women’s liberation is essentially bound
up with the struggle against capitalism.
(b)  Liberal Feminism (i) Men and Women should be treated equal.
(¢)  Socialist Feminism (iii) A Women is not born but made.
(d) Marxist Feminism (iv) Both Men and Women are essentially rational creatures.
Code :

() (b) (¢) (d)
(H @) Gv) G @
2 @O G G @)
@ @ @O Gv) (D)
@ Gv) G @O - >)

Which among the following is the distinctive feature of ethical judgements, according to
Stevenson ?

(1) Statement of Command (2)  Approval of the Consequence of an act

(3) Statement of Fact (4) Disagreement in Attitude

It has been pointed out that Mill’s arguments for Utilitarianism Suffer from the fallacy of :
(1)  Ilicit major (2)  IHlicit Minor
(3)  Undistributed Middle term (4)  Figure of Speech

vooss | IR 1
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39.

40.

41.

42.

43.

44.

‘The goodness of an action is determined by its consequence’ is the theory attributed to :

(1) Descriptive (2) Deontological  (3) Prescriptive (4) Teleological

According to Kant, Moral Laws are :
(1)  Aprioribased on reason (2)  Apriorinot based on reason

(3)  Aposteriori not based on reason (4)  Aposterioribased on reason

Consider the Syllogism below and identify the fallacy involved in it.
All pets are domestic animals.
No lions are domestic animals.

Therefore, some lions are not pets.

Code :
(1)  Fallacy of Exclusive terms (2)  Fallacy of llicit minor
(3)  Existential tallacy (4)  Fallacy of undistributed middle

Which combination of fallacies occur if the rule ‘“Any term distributed in the conclusion must be

distributed in the premises’’ is not followed :

(1)  Undistributed middle and Illicit major

(2)  Undistributed middle and fallacy of Exclusive premises
(3) Illicit major and Illicit minor

(4) Fallacy of exclusive premises and Illicit major

To obvert a proposition in an immediate inference :

(1)  Only quality of the proposition is to be changed

(2)  Only quantity of the proposition is to be changed.

(3) Quality is to be changed and the predicate term is to be replaced with its complement.

(4) Quantity is to be changed and the predicate term is to be replaced with its complement.

In the traditional square of opposition, if ‘O’ is true, then :
(1) ‘A’ istrue; ‘B’ is false; ‘I’ is undetermined.

(2) ‘A’ istrue; ‘E’ and ‘T’ are undetermined.

(3) ‘A’ isfalse; ‘E’ and ‘T’ are undetermined.

(4) ‘A’ isfalse; ‘E’ and ‘T’ are true.
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45. Match List - I (Figures) with List - II (Moods) and choose the correct answer with the help of
code given below :

List - 1 List - II
(Figures) (Moods)
(a)  First tigure (1)  Fresison
(b) Second tigure (i) Ferio
(¢)  Third tigure (iii) Festino
(d)  Fourth figure (iv) Ferison
Code :

(a) (b) (c) (d)
H @ Gy O @)
2 @ @ >y @)
@ @ G Gv) @
@ @ G @O (D)

46. In which one of the following cases an argument can be invalid ?
(1) Premises are True and Conclusion is True
(2) Premises are True and Conclusion is False
(3) Premises are False and Conclusion is False

(4) Premises are False and Conclusion is True

47. Consider the following propositions and choose the correct answer :
““All judges are lawyers’’.
‘‘Some judges are not lawyers’’.
Code :
(1) Both the statements are opposed in Quality only.
(2)  Both the statements are opposed in Quantity only.
(3) The statements are opposed both in Quality and Quantity.
(4) The statements are opposed in Quality and not in Quantity.

48. If two propositions can both be true, but can not both be false together, their relation is :

(1) Contrary (2) Contradictory (3)  Sub-Contrary (4) Sub-altern
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49. Which one of the following rules of inference is employed in the argument :
[N>(O-P)]*[Q> (OR)]

NvQ
- (O-P) v(OR)
(1)  Hypothetical Syllogism (2) Disjunctive Syllogism
(3) Constructive Dilemma (4) Modus Ponens

50. Which one of the following forms represents ‘Modus Tollens’ ?
(1) p>ogq
~q
s~p
2 pvq
~p
|
3) p>ogq
=~ p>2(p-q)
4 p>ogq
|y

51. Consider the following statements in the light of Plato’s metaphysics and select the correct code :
(a) Whatis truly real is objects that we encounter in sensory experience.
(b)  Whatis truly real is forms that can only be grasped intellectually.
(c) Forms are eternal and changing.
Code :
(1)  Only (a) is true
(2) Only (a) and (c) are true
(3) Only (b) is true
(4) Only (b) and (c) are true

52. Which one of the following opined that ‘‘Philosophy is based on precepts of reason; theology on
truths of revelation held on faith and philosophy serves as a handmaiden for theology.’’

(1) Augustine Anselm (3) Aquinas (4) Aristotle
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53.

Given below are Assertion (A) and Reason (R). Consider them in the light of Plato’s Theory of
Forms and select the correct code.

Assertion (A) : Circularity does not exist in the physical world.

Reason (R) :  Circularity is not an example of form.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true and (R) is false.

4) (R)is true and (A) is false.

54. Which one of the following statements appropriately represents the position of Nietzsche ?
(a) He equates the will to truth with the will to power.
(b)  The distinction between good and evil is based on the will to power.
(¢)  The distinction between good and evil is rooted in objectivity.
(d) All life and all happiness are governed by the will to power.
Code :
(1) Only (a) and (b) are true
(2) Only (c¢) and (d) are true
(3) Only (a), (b) and (d) are true
(4) Only (b) and (d) are true
55. Match List - I with List - IT and mark the correct code :
List - I List - II
(a)  Friedrich Nietzsche (i) How to make our ideas clear
(b) William James (i)  The will to power
(¢c) C.S. Peirce (ii1)) Logical Investigations
(d) Edmund Husserl (iv) The Meaning of Truth
Code :
(a) (b) (¢) (d)
H @O @) @@ @)
@ @ @O @ (@)
3 @ v @ ()
@ @@ av) (@) @
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56.

57.

58.

59.

60.

61.

Idealism is refuted by which of the following philosophers ? Select the correct code :

(a) Moore (b) Russell (c) Berkeley

Code :

(1)  Only (a) and (c) are true (2)  Only (a) is true

(3) Only (a) and (b) are true (4) Only (b) and (c) are true

Which one of the following Logical positivists replaced ‘Verification’ with ‘Confirmation’ on the
basis that although Universal laws cannot be verified, they can be confirmed ?

(1) Carnap (2) Ayer (3) Schlock 4 W.V.0.Quine

‘Reality which is Absolute is a Coherent thought system with logical connectivity’ is the view that
can be ascribed to :

(1) Hegel (2) Berkeley (3) Moore (4) Spinoza

Which one of the following statements represents the philosophical position of Anaximander
correctly ?

(1) The ‘Limitless’ is the principle of the things that exist.
(2) Itis from the principle of ‘Limitless air’ that everything that exists comes into being.
(3)  “‘Limitless number’’ is the principle of things that exist.

(4)  ‘Limitless earth’ is the basic principle of everything that exists.

The theory of metempsychosis or the theory of transmigration of soul - is ascribed to which one of
the following Pre-socratic philosophers ?

(1) Pythagoras (2) Anaximander (3) Parmenides (4) Democritus

The purpose of Phenomenological reduction of Husserl is to :

(1) examine the meanings produced by pure impersonal consciousness.
(2) examine the meanings of objects of the world.

(3) examine meanings of objects of personal consciousness.

(4) reject the meanings produced by pure impersonal consciousness.
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62. Match List - I and List - IT and choose the correct code :

List - I List - II
(a) Locke (1)  An Enquiry Concerning Human Understanding
(b) Berkeley (1)  Crtigue of Practical Reason
(¢) Hume (iti)  Three Dialogues between Hylas and Philonous
(d) Kant (iv) An Essay Concerning Human Understanding
Code :

(a) (b) (c) (d)
O O G 3§y @)
@ O Gv > (i)
@) Gv) @G @O ()
@ @) Gv) G @

63. Given below are Assertion (A) and Reason (R). Consider them and select the correct code :
Assertion (A) : In the context of Descarte’s philosophy whatever is clear and distinct must
necessarily be true.
Reason (R) : Knowledge is constituted of clear and distinct ideas.
Code :
(1) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(2) (A)is true and (R) is false.
(3) (A)is false and (R) is true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true and (R) is the correct explanation of (A).
64. ‘‘Matteris the permanent possibility of sensation’’. This famous statement is from :
(1) James Mill (2) John Stuart Mill (3) Locke (4) Hume
65. All the following propositions except one are compatible with Leibnitz’s Philosophy :
(1)  Monads are infinitesimal Spiritual entities.
(2) Monads are windowless
(3) There is no hierarchy among the monads
(4) Monads are indiscernible
rooss [NV 2
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66. Descartes advocacy of Interactionism and Spinoza’s parallelism undermine :
(1) Monism and dualism (2) Dualism and pluralism

(3) Dualism and naturalism (4) Dualism and Pantheism

67. Mark the incompatible with Hume’s philosophy :
(1)  There is no such thing as causal relation.
(2) The so called self is only an aggregate of mental states
(3) The world and its changes are because of God’s supremacy

(4)  All that can be known could be divided into ‘matters of fact” and ‘relations of ideas’

68. Match List - I and List - IT and choose the correct code :

List - I List - II
(a)  ‘Matter is something I know not what (i) Berkeley
(b) Matter as such does not exist (i) Locke

(¢)  What we can know is only the phenomenon (iii)) Hegel
(d)  ‘The real is the rational’ (iv) Kant
Code :
(@) (b) (c) (d)
H O G @) 3Gv)
2 @ @ Gv) (6
3 Gv) @G @@ @
@ Gv) G @) @

69. Consider (a), (b), (¢) and (d) and then select the correct answer with reference to Descartes :
(@) Truths of sciences can be doubted.
(b)  Sense - testimony can be doubted.
(¢) Nothing except the self can be doubted.
(d) Act of doubting cannot be doubted.

Code :
(1) (a) and (b) are only correct. (2) (a), (b) and (c) are only correct
(3) (a), (b) and (d) are only correct (4) (b), (c) and (d) are only correct
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70. Match List - I with List - IT and choose the correct answer with the help of code given below :

(a)
(b)
(©
(d

List - I
Berkeley
Spinoza
Descartes

Hume

Code :

D
@)
3
“

(a) (b)
®»  Gv)
(iv) (i)
i) @
(iv)  (iii)

()
(i1)
(111)
(iv)
() (d)
(i) (i)
@ @G
(i) (i)
i @

List - II
Interactionism
Constant Conjunction

Parallelism

Subjective Idealism

71. Given below are an Assertion (A) and a Reason (R). Consider them and select the correct code
with reference to Locke :

Assertion (A)

Reason (R) :

Code :

D
(@)
3)
“

: According to Locke knowledge depends on the mental power to perceive or

apprehend ideas and not in the more receptivity of ideas.

Knowledge is rational for it consists in seeing the agreement or disagreement

between ideas.

Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) are true and (R) is not the correct explanation of (A).
Both (A) and (R) are false.

(A) is true and (R) is false.

72. Given below are Assertion (A) and Reason (R). Consider them and select the correct code :
Assertion (A)
Reason (R) :

Code :
Both (A) and (R) are false.
Both (A) and (R) are true and (R) gives the correct explanation of (A).

D
(@3]
(3)

foons H|H|H||||H|||

: Hume regards impressions to be the basic touch stone of knowledge.

With the help of the law of association Hume shows that in causation there is no
logical but psychological necessity.

Both (A) and (R) are true and (R) does not give correct explanation of (A).
(A) is true and (R) is false.
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(a)
(b)
(©
(d

<< :

(D
2
3)
“4)

I - 1 Tt - I

Tehel () SAAAHIAER
ESEIE (i) TR FasE

EG| (i) FEFIEE

A (iv) fauforame gerarR

(@) (b) (c) (d)
M  Gv) (i) (i)
(v) (i) () @)
(v) () (i) (@)
(v) (i) @) @)

71. USRI (A) 3R HROT (R) = feu M &1 37 W fo=m # iR @i & deof # W&t e 1 =2

.
.
.

ATTR (A) : Tk & STTER T Tl bl TS A1 TG0 FHA i AHHH wiferd T R +zar §

T fo O Tl i TEIRIEd W

HIUT (R) : I Gt BIa1 © Fifeh 3HH YTl o ore Henfd SR sTHedfd ol <@l S

<

(D
2)
3)
“4)

gIfed BT & |

(A) 3R (R) T Tt € 3R (R), (A) T T& AT UKId I T
(A) 3R (R) THT T ¥ 3R (R), (A) T TEl A W Tl el ¥ |
(A) 3R (R) ST Terd

(A) W& T 3R (R) To0d T

72. = AfURYT (A) 3K w/ROT (R) fouw 7T § iR TR e 1 =
ATUHAT (A) : TA FEHN 1 JH il TAYT FEIS o &9 H AF ¢ |
T (R) : gead & oM & TR ¥ gH <9id § o SRERu-9a # #E aohed T8

<

(D
2
3)
“4)

1fuq RS STTEvEehdl Bl | |

(A) 3R (R) I Terd B

(A) R (R) T & € IR (R), (A) ! T&l ARAT T HLl |
(A) 3R (R) IFi T&t € 3R (R), (A) Tt Tel ST T4 Tl Lt |
(A) T ¥ R (R) Tord B
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73. Given below are Assertion (A) and Reason (R). Consider them and select the correct code with

reference to Berkeley :

Assertion (A) :

Reason (R) :

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) Both (A) and (R) are false.

(4) (A)is true and (R) is false.

Berkeley, instead of subjectifying things tries to objectify ideas. ‘‘T am not for

changing things into ideas but rather ideas into things.

External things are caused by the Supreme Spirit or God who is external to any

finite spirits.

74. Match List - I with List - IT and choose the correct answer with the help of code given below :
List - I

(a) Pantheism

(b)  Dualism

(c) Transcendental Illusion

(d) Pluralism
Code :

(a) (b)
H ©» @
2 @ O
() (@) (i)
@ @) @@

(c)
(iv)
(iii)
()

(iv)

(d)
(iii)
(iv)
(iv)
()

75. Select the correct option.

The standard of Scientific Knowledge for Kant is :

List - 11
(1) Kant
(i) Spinoza
(iii) Descartes

(iv) Leibnitz

(1)  Synthetic aposteriori judgement — (2)

(3)  Synthetic apriori judgement

“)

76. Rtain Vedic tradition was identified with :

(1)  Satya only

2)

vooss | IR

Dharma only

32

Analytic apriori judgement

Analytic aposteriori judgement

Karma only (4)

Satya and Dharma
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73.

74.

75.

76.

Fr arfireRe (A) IR wIOT (R) feuw T €1 39 W e ¢ iR sehal % ded o 9dt %2 1 =

g

AMIRIT (A) :  Fehat ¥ TGl I faufa aM & T Il i S I i ST | H awgseii
1 T B Ige 1 UIER TEl g, THh o H Yo bl Ay I aear g 1

HIUT (R) : TR IIU el = A1 $YeR gRI I it & S fondt off aRifia Samnsti @
Bl ¢ |

< :

() (A) 3R (R) A Tl € 3R (R), (A) i T AT T Tl 2 |
2) (A) 3R (R) TH W& ¥ 3R (R), (A) T TE A T&KA Tl T €|
(3) (A) 3R (R) TF Teora €

4) (A) & T R (R) T

Tl - 1 & Gt - I1 & @1 gafaa & iR = fSu 71T e =0t wemd § 98 SO &1 9o

et - 1 gt - I
(a) TAYIRAR i) i
(b) IR (i) o
(c) owdifea v (iii) <
(d) SRS (iv) <mEafs
<<

(a) (b) (c) (d)
H O @ >Gv) (i)
2 @ @O @) @)
@ @ @@ @O v
@ @@ @ ) O

et foashed 1 =99 i |

e & foe S 99 I AF T

(1) GI9urcHa STgHanga 1o () TfaeeryunceEs® grTgYfas ofr
(3) GIYUTHS FrTHfae o (4) favcryunEs STgYaEna o

Sfees wrRred # Sd i fordesh WY g S © 2
(1) Haa T (2) hadA gH (3) HadA FH 4) T AR ¥
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77.

78.

79.

80.

81.

82.

83.

Select the correct sequence of the states of upanisadic self :
(1)  Susupti, svapna, Jagrat, turiya (2)  Jagrat, svapna, susupti, turiya

(3) Jagrat, susupti, svapna, turiya (4)  turiya, svapna, susupti, Jagrat

By what sannikarsa do we perceive the relation between a flower and its red colour according to

the Nyaya ?
(1)  Samyoga (2) Samavaya
(3) ViSesanata (4)  Samaveta Samavaya

Which among the following statements is not acceptable to the Carvaka ?

(1) Consciousness is something produced
(2) Consciousness is not real
(3) Consciousness is produced by physical entities

(4) Consciousness must go with the body

What type of abhava of jAanais admitted by the vaiSesikas in liberated self ?
(1) Pragabhava (2) Dhvamsabhava (3) Atyantabhava (4) Anyonyabhava

What is the cause of the knowledge of nearness and farness according to the vaiSesikas ?
(1) Kala (2) Akasa (3) Dik 4) Manas

By which pramana does the Nyaya school prove a state of nirvikalpaka pratyaksa ?
(1) Pratyaksa (2) Anumana (3) Upamana (4) Sabda

Consider the following Assertion (A) and Reason (R) and select the correct code from VaiSesika

Standpoint :

Assertion (A) : Paramanuis not divisible.

Reason (R) :  Whatever is not visible is not divisible.
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true and (R) is false.

4) (A) is false and (R) is true.
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17.

78.

79.

80.

81.

82.

83.

simffees e i staEensii & S-SR Hl a7 B :
(1) gyfla @, s, gaar ) e, @w, gy, gaar
(3) Sma, gyia, @w, giar @) g @, gyia, s

I % STER o Gy ¥ o1 T I IR 3 Alel T1 % o o Heie 1 S i § 2
(1) g7 () gHET (3) fFEIyoar  (4)  9EIT gEEEF

frafafad § 9 F -9 %Y =i i Tiwd T8 ¢ 2
(1) = S i g8 2| (2) =dT Hd TR €
(3) AN AR T F IS (4) = IR F 1Y FI9T S |

ARl GRT g ST | 777 o fhT YR o 37979 i 91d HHT 7T © 2
(1) grm9E (2) EFayEF (3) SF=TIF 4)  T==TE

IRl & STTAR W= TR gl o I 1 T HROT T ?
(1) & () STFET 3) fe& 4 TTg

fove goror o g0 I TWEE 1 fAfdeeys Fege st staeen o fag feman?
(1) Ha& 2) STTAT 3) 3SgHIT 4 Ji<

frfafea sfume (A) 3T &ROT (R) W fa=r i iR oRifves gfieshon 4 @@l f2 1 =
EOg

AR (A) : Ty favss & BT €

HET (R) : St 3 ot 9 T € 9% faars off 7 T

< :

(1) (A) 3R (R) T T T 3R (R), (A) T T AT Td Ll B |
2) (A) 3R (R) < T& € 3R (R), (A) FT T&l AT F&d 76l el § |
(3) (A) W@ § R (R) e R

4) (A) Ted T 3R (R) T R
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84.

Which among the following is not a means of vyaptigraha ?

(1) Tarka (2)  Samanyalaksana pratyaksa
(3) Aptavakya (4)  Upadhinirasa
85. Which type of hetvabhasais committed by the following anumana ? Select the correct code :
This animal must be a cow because it possesses horseness.
(1)  Satpratipaksa (2)  Savyabhicara (3)  Viruddha (4) Badhita
86. Which one among the following is not a nityadravya according to the VaiSesikas ?
(1) Paramanu (2) Dvyanuka (3) Manas 4) Dik
87. Match List - I with List - IT and choose the correct answer from the code given below :
List - I List - II
(@) Savitarka (1)  When the Cittais concentrated on a subtler object of meditation like
the tanmatras.
(b) Savicara (i) When the Cittais concentrated on a still subtler object of meditation
which produces Joy, like the senses.
(¢) Sananda (i11)) When the Cittais concentrated on a grass object of meditation.
(d) Sasmita (iv) When the Cittais concentrated on the ego substence with which the
self is generally identified.
Code :
(a) (b) (¢) (d)
(H G @ @G 3Gv)
2 @O @ @) @v)
3 G @ (av) ()
@ Gv) @) @ @
88. Given below are Assertion (A) and Reason (R). Consider them and select the correct code
given below, in the context of Buddhism :
Assertion (A) : Nirvapa cannot be sufferingless.
Reason (R) :  Sarvam Duhkham Duhkham.
Code :
(1)  (A) and (R) both are true and (R) is the correct explanation of (A).
(2)  (A) and (R) both are true and (R) is not the correct explanation of (A).
(3) (A)is true and (R) is false
(4) (A) is false and (R) is true
poosss || AR 5




84.
85.

86.

87.

88.
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frfafaa § 9w =77ftarg 1 T T1eH T8 ¢ 2
(1) @& (2)  THEIASIT JE
(3)  ST<ar (4) IUIHRIE

frefafaad sr7ar7 5] ford TR &1 Braryy foha St €2 |t e 1 =99 &Y -
Ig IO 37elRd &9 & Teh T BH1 =16 Fifeh 3 =iee ¢ |
(1) ggFiage () FHIYER (3) faes 4) anya

IRl & ER Fr=fafead § 9 o1 s gy =& €2
(1) wHTg 2) 5IF 3) 79 @ fez

g - 1 00 Gt - I1 & 919 gafad & i) = iU 1 e 9 981 S| &1 =97 &
T - 1 et - I
(a) Tfaasd () & fod e % gen fowg W = & S8 a9 |
(b)y TEER (i) v fag e ot oA % gau fave W Hiad 8 S g Soae i § S
e
(c) ®HAg (i) o7& 79 AW % Te faua W Hiwd 2
d) TIrEa (iv) 9 fow 31€ W hi=d 8 e e SHT=raan ST =l aried 2l & |
<
(@ (b) () (d)
(H @ @ 3G 3Gv)
2 @O @@ @) @)
3 @ @ 3Gv) (>
@  @Gv) @) G @

T erfireRe (A) 3R ®RUT (R) fou U ¥ 1 31 W faam X 1R 9 " & Heof ¥ = fou T e
R e TAC T R PR I T

AfeRe (A) :  fafr g wRfed T2 & Tk |

®RUT (R) : T97 5@ 5:@H !

<<

(1) (A) 3R (R) 3T W2 § 3iX (R), (A) T W& AT Td L & |

2)  (A) 3R (R) SH & ¥ IR (R), (A) FT TE AT & THId FLT T |

(3) (A) & T 3R (R) T |

@) (A) T € 3R (R) T& T

N
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89.

90.

91.

92.

Given below are Assertion (A) and Reason (R). Consider them and select the correct code
given below, in the context of Buddhism :

Assertion (A) : There is suffering in the world.

Reason (R) : Itis not created by us.

Code :

(1)  (A) and (R) both are true and (R) is the correct explanation of (A).

(2)  (A) and (R) both are true and (R) is not the correct explanation of (A).
(3) (A) is false and (R) is true.

4) (A)is true and (R) is false.

All the following propositions except one are compatible with Prabhakara school of Pirva -
mimamsa:

(1) Knowledge consists of triputi

(2)  Advocacy of Anvitabhidhanavada

(3) Advocacy of Anupalabdhi as an independent pramana

(4)  Perceptual error is an act of omission

Given below are Assertion (A) and Reason (R). Consider them and select the correct code :

Assertion (A) : In the view of Madhva, Brahman the mahavastu is ananta-kalyana-guna-
paripirna.

Reason (R) :  Even an ordinary thing Sadharana Vastu Cannot be without gunas.
Code :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2)  (A)is true and (R) is false but (R) is not the correct explanation of (A).

(3) (A)is true and (R) is false, but (R) is the correct explanation of (A).

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

Mark the incompatible in view of Visistadvaita Vedanta :

(1) The Means to Moksa is jiana-karma-Samuchhaya

(2) Jivatmais one with Brahman

(3)  Satkhyati satisfactorily explains the perceptual error.

(4)  Saptavidha anupapattis are aimed at the refutation of Maya.
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89.

90.

91.

92.

= s1fireRer (A) 3R &IOT (R) feu 7u €1 37 W fo=m & oiR sitg 7d & de # 9 feu e FHe
R e TAC T e R I T

AfeRed (A) : g H #e T
T (R) : Tg! I TAR GRT &l bl Tt /|

e

(D
2
3)
“4)

(A) 3R (R) T F& € iR (R), (A) T =AEA T il B |

(A) 3R (R) <M W& € 3IR (R), (A) T TE A W& Tl T € |
(A) TTed ¥ 3R (R) Tl €1

(A) T& T 3R (R) TTord T

e & faara frafafead § @ a9t a6 S 7d-91mrar & G geE | GETd € ?

(D
2
3)
“4)

IH AT E T

e e A I EIRE

Th a3 FHTT o &4 | 377907 i ferma
TR i Tkl & &9 H TATIReh TTerdt

o SrfireRer (A) 3R &RUT (R) few U €1 37 W faar &Y qon W& e &1 =94 &
AMIRIT (A) : T HI W H I, S FFAKG €, AT FHATT- - TR |
HIT (R) : 7=l %k o Wk @Ry g oft 7o S fed TR & wehd |

<

(D
2)
3)
)

(A) R (R) <! & € AR (R), (A) T T =A@ Tl T&Id ol |
(A) T& T 3R (R) Tod § AfFA (R), (A) T T AR T& Td Hal 2|
(A) TE ® &R (R) ToId © AAfhA (R), (A) 1 Tl AT T&d Ll € |
(A) R (R) T T& € IR (R), (A) ! T&l ARAT T HLl |

fafreTsa a5ra o gfte | a1 fesfa &l :

(D
2)
3)

Hieg 1 WEA TT-FHH -G &/
SfaTeaT SIel % 919 ThIhR B |

WWW |(’1(‘|l El'ﬁ' Hdlq\flﬂoh ('I{lGh ﬁ ey onddl %|
e ST79qfaal 1 S G h1 e il § |
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93.

94.

95.

96.

97.

Match List - I and List - IT and choose the correct code :

List - 1 List - II
(a) Samkara (1)  Nityavibhati
(b) Ramanuja (1) Visesa
(¢) Madhva (i) Pustimarga
(d) Vallabha (iv) Adhyasa
Code :

() (b) (c) (d)
H @ Gv) > @
@ @) G @O @v)
@ Gv @O > ()
@ @ G Gv) @

Anupalabdhi is an independent pramana according to :

(1) Ramanuja (2) Madhva (3) Kumarila (4) Prabhakara

Which one of the following is not acceptable to Jain Philosophy ?
(1) Realistic and relativistic pluralism.

(2) ‘Dravya and ‘Guna are inseparable.

(3) We can know an object in all its aspects.

(4) Keval-Jianais unlimited and absolute knowledge.

Ambedkar’s theory of relation is essentially :

(1)  Spiritual (2) Metaphysical (3) Naturalistic (4) Hermeneutical

Which among the following is true regarding K.C. Bhattacharya’s two branches of Philosophy of
object ?

(1)  Ethics and Logic (2) Religion and Ethics
(3) Logic and Metaphysics (4) Physics and Metaphysics
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93.

94.

95.

96.

97.

Tl - [ 1 gt - 11 919 gaferd s 3R T8l % ol =97

T - 1 et - I
(@) ¥R G)  Freafayf
(b) WIS (i) a9y
(c) WA (iii)y gfemrt
d) FoaY (iv) o7er

<<

() (b) (c) (d)
(H @@ aGv) @G @
2 @@ @ @ v
@) v @O G (i)
@ @@ @ (v O

foReeh STTAR S777cTs Toh T&as FAT S ?

(1) THES (2) HE (3) FHHIRA (4) JHHT

frafafed § @ @9 o7 59 *1 i 1@ 82

(1) 9% Td 9rel sgads |

2) ‘g7’ @R 7o sifadea B T

(3) TH U I%] hl Uk 9t Tegel § SM Fehd T |
4)  FIor-F17 TEHA IR Fder I 7

STEEH 1 ge-fagld stfera: ©
(1) emenfores (2) difee (3) Ypfqamr (4) ITENYHHES

frefafed § 9 &1 .91 Yee=m & a5g-5¥ &I S e & Gy § 66§ 2
(1) ifceres wel qeh 2) o e A
(3) TF TS qeoHEiEr (4) ifqet To doaEHEn
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98.

99.

100.

Given below are the four principles of Existence.
(@) The Super - Cosmic theory

(b)  The Cosmic or the Terrestrial

(¢)  The Supraterrestrial or the other worldly
(d) The integral or the synthetic

Which one of the following philosopher has mentioned in his philosophy ?
(1)  Vivekanand (2) K.C.Bhattacharya
(3) Igbal (4)  Sri Aurobindo

Gandhian View of trusteeship was not designed to :
(1) evolve a new social order

(2) promote love and sacrifice among people
(3) give every opportunity to an individual to rise

(4) apply force to deprive the priviledged class of their wealth

Which one of the following pair is correctly matched ?

(Thinkers) (Works)
(1)  Sri Aurobindo - The Human cycle, Freedom s battle
(2) Tagore - Lover’s gift and crossing, My Soul’s Agony
(3) Gandhi - The wheel of fortune, Delhi Diary
(4) Radhakrishnan - Religion and Society, Massege From the East
-00o0-
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98. = arfac & =R fagia faw T g1
(a) TUH-HoIh fagid

(b) SIEUSHEH AT TElfheh

(c) Rl

(d) gUi STgdenal = HivAn

frfafed # 9 fha SRife 3 319 <A H Soore fhan 82

(1) faoerHe (2) 6.9 wEEE
(3) THeA 4) it efeig

99. el o1 =Y HaElt 7a forweh TafH w@l = e o ?
(1) T 8 GHS & o & fag |
(2) @R % S U TE @ e oF & faw |
(3) T Afad o HR 334 & T & FhR &1 316 < & o)
(4) SIS a7 I 37k o7 | dfad L & A 9 1 IR w6 foaw

100. fr=fafea § @S- 3 92 gafed €2

(feiden ) (&fa)
(1) i srfeg - & A EHe], HISHT Heed
(2) TR - Tad firee Tug HifgT, 4rs icd Tl
(3) et . &1 &ieT 3% BRY, fecetl SRl
4) TETHFEH - Reliv gve G, G i & 8
-00o0-
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